
Algoritmo:
EliminareÊilÊbipoloÊnonÊlineareÊeÊcalcolareÊl'equivalenteÊTheveninÊaiÊcapiÊdiÊtaleÊbipolo;1.
AttaccareÊl'equivalenteÊTheveninÊalÊbipoloÊnonÊlineare;2.
RicavareÊleÊinformazioniÊnecessarie.3.

->ÊSeÊsonoÊpresentiÊdueÊbipoliÊnonÊlineariÊnonÊsiÊpuòÊutilizzareÊThevenin,ÊmaÊbisognaÊutilizzareÊKirchhoff.
->ÊConÊresistoreÊnonÊlineareÊbisognaÊsempreÊmandareÊaÊmente:

𝑅 = 𝑘 ∗ 𝐼௡௟:ÊparticolareÊbipoloÊinÊcuiÊlaÊresistenzaÊèÊdirettamenteÊproporzionaleÊallaÊcorrente.-
=>ÊSiÊotterrannoÊsempreÊdueÊpossibiliÊsoluzioni,ÊunaÊpositivaÊedÊunaÊnegativa,ÊcorrispondentiÊalÊ
comportamentoÊdelÊbipoloÊ(passivoÊconÊcorrenteÊpositiva;ÊattivoÊconÊcorrenteÊnegativa).

ᎠᎡElementi non lineari:


